Homework 20.
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sin(2z + m/3)
Average is 0, because average of sin(2n) is 0.
Average is 1/e.

Both integrals have the same value, and their sum is the integral of 1, which is b — a. So each integral
has value (b — a)/2.

(a) 27/3 (b) .

1/2 — (2/m)(sin(x)/1 + sin(3x) /3 + sin(5x) /5 + - - -).

—1/2 — (2/m)(cos(x)/1 — cos(3x)/3 + cos(bx)/5 + --+) + (2/7)(sin(z)/1 — 2sin(2x)/2 + sin(3x)/3 +
sin(5x)/5 — 2sin(6x)/6 + - - -).

7/4 — (2/7)(cos(z) /1% + cos(3z) /3% + cos(5z) /5% + - - ) + (sin(z)/1 — sin(2z) /2 + sin(3x) /3 + - - *)
7/4+ (2/7)(cos(x) /12 + cos(3x) /32 + cos(5x) /5% + - - +) — (sin(x)/1 + sin(2x) /2 + sin(3z) /3 + - - -)

1/7 + sin(x)/2 — (2/7)(cos(2x) /(22 — 1) + cos(4x) /(4% — 1) + cos(6x) /(6% — 1))

—lat —2m,0at —w, —1 at —7/2, —1 at 0, 0 at /2, 0 at 7, —1 at 2.



